Hardware List L - o o oo oo oo oo oo oo

| 1 - (A) Roof Assembly ) o <
[cucCoraft 2 - (B) Side Assemblies ainimiNivianinininEibyZisisE
FINE OUTDOOR FLIRNITURE 4 - (C) Brace Assemblies D
4 - (D) End Caps c
;I'ools Required Hardware
9/16" Wrench (Not Included) 8 - 3/8" x 7" Stainless Steel Bolts
#2 Square Drive Bit 8 - 3/8" Stainless Steel Nuts
(Not Included) 16 - 3/8" Stainless Steel Washers l‘
8 - 3/4" Panhead Screws :jAL#gt: N
56 - 2" Stainless Steel Screws T e e A O U e O O A O U A A I A B

Inch
0 1 2 3 4 5 6 7 / \

1. Lay Roof Assembly on a Soft Blanket With Slats Facing Down, Attach Side Assembly to
Roof Assembly Using 2 - 7" Bolts 2 - 3/8" Nuts & 4 - 3/8" Washers per Corner. Be Sure to Align all _ _
Predrilled Holes & match all numbers & or letters. Hand Tighten Bolts then Position Swing

Stand Upright & Tighten Bolts.

[cuxCraft

FINE OUTDOOR FURNITURE

N SN

Classic Vinyl Swing Stand Assembly Instructions

Page 1 of 2

10/16/ 2017 ‘ R.M.




2. Attach Brace Assemblies to Side & Roof Assembly using
13 - 2" Screws Per Brace, Be Sure To Position Brace As Shown
Below or Predrilled Holes will Not Align with Roof Assembly.

3. Attach End Caps To Top of Posts
Using 2 - 3/4" Screws Per End Cap in Predrilled

[cuxCoraft

FINE OUTDOOR FURNITURE

Classic Vinyl Swing Stand Assembly Instructions

Page 2 of 2 - - 10/16/ 2017 ‘ R.M.




